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@value

public static class State {

byte[] ringBuffer;

byte[] contextModes;

byte[] contextMap;

byte[] distContextMap;

byte[] distExtraBits;

byte[] output;

byte[] byteBuffer; // BitReader

short[] shortBuffer; // BitReader

int[] intBuffer; // BitReader
int[] rings;

int[] blockTrees;

int[] literalTreeéroup;

int[] conmandTreeéroup;

int[] oistanceTreeGroup;

int[] oistoffset;

long accumulators4; // BitReader: pre-fetched bits.

int runningState; // Default value is 8 == Decode.UNINITIALIZED
int nextRunningState;

int accunulator32; // BitReader: pre-fetched bits.

int bitOffset; // BitReader: bit-reading position in accumulator.

int halfOffset; // BitReader: offset of next item in intBuffer/shortBuffer.

int tailBytes; // BitReader: number of bytes in unfinished half.
int end0fStreamReached; // BitReader: input stream is finished.
int metaBlockiength;

int inputEnd;

int isUncompressed;

int isMetadata;

int literalBlocklLength;

int nunmLiteralBlockTypes;

int commandBlockLength;

int nunConmandBlockTypes;

int distance8lockLength;

int numDistanceBlockTypes;

int pos;

int maxDistance;

int distRbIdx;

int trivislliteralContext;

int literalTreelox;

int commandTreeldx;

int J;

https://github.com/google/brotli/blob/master/java/org/brotli/dec/State.java

int insertLength;

int contextMapSlice;

int distContextMapSlice;
int contextLookupOffsetl;
int contextLookupOffset2;
int distanceCode;

int numDirectDistanceCodes;
int distancePostfixBits;
int distance;

int copylength;

int maxBackwardDistance;
int maxRingBuffersSize;
int ringBuffersize;

int expectedTotalSize;
int outputDffset;

int outputLength;

int outputUsed;

int ringBufferBytesiritten;
int ringBufferBytesReady;
int isEager;

int isLargeWindow;

J// Compound dictionary
int cdNunChunks;

int cdTotalSize;

int cdBrIndex;

int cdBroffset;

int cdBriength;

int cdBrCopied;
byte[]1[] caChunks;
int[] cdChunkOffsets;
int cdBlockBits;
byte[] cdBlockMap;

© NAVER Corp.
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State state = new State(

new byte[] {},

new bytel] {},

new byte[] {},

new oytel] {},

new byte[] {},

new byte[] {},

new bytel] {},

new short[] {},

new int[] {F,

new int[] {},

new int[] {},

new int[] {},

new int[] {},

new int[] {},

new int[] {},
accumudatorsd: 1L,
runningState: 1,
nextRunningState: 1,
accumedator32: 1,
bitOffset: 1,

hafoffset: 1,

falBytes: 1,
endOfStreamAeached 1,
metaBlockLengthc 1,
InputEnd: 1,
IsUncompressed: 1,
IsMetadata: 1,
literalBlockLength: 1,
rumikeralBlockTypes: 1,
commandBiccklLength 1,
rumCommandBlockTypes: 1,
distanceBlockLength: 1,
rumDistanceBlockTypes: 1,
pos 1,

maxDistance: 1,
distRbidc 1,
triviakiteralContext: 1,
IteralTreekdx: 1,
command Treelde: 1,
B,

InseriLength: 1,
contextMapSiice: 1,
distContextMapSice: 1,
contextlookupOffsett: 1,

https://github.com/googIe/brotli/bIob/master/?éva/org/brotIi/dec/State.java

COMEXTLOOKUPUITSETE 1,
contextLookupOffset2: 1,
distanceCode: 1,
rumDirectDistanceCodes: 1,
distancePostfhdits: 1,
distance: 1,
copylength: 1,
maxBackwardDistance: 1,
maRingBufferSze: 1,
ringBufferSze: 1,
expectedTotalSze: 1,
outputOffset: 1,
outputlength: 1,
outputUsed: 1,
ringBufferBytesWritten: 1,
ringBufferBytesReady: 1,
IsEager: 1,
IsLargeWindow: 1,
cdNumChurks: 1,
cdTotalSize: 1,
cdBrindex: 1,
cdBroffset 1,
cdBrLength: 1,
cdBrCoplec: 1,

new byte[1[] {},

new int[] {},
cdBlockBits: 1,

new byte[] {}

State state = SUT.giveMeOne(State.class);

© NAVER Corp.
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@DisplayName("DeliveryFeeClassType Ol SECTION_BY_QUANTITY section2 EC} X2 Ztoz It bijdH| gig"
©@RepeatedTestWithoutContext
fun calculateWhenDeliveryFeeClassTypeIsSectionByQuantityAndNotInAnySection() {

// given

val secondBaseQuantity = 206L

val secondExtraFee = BigDecimal( val: 1000)

val thirdBaseQuantity = 50L

val thirdExtraFee = BigDecimal( val: 2000)

val sectionByQuantityDeliveryFeePolicySpec = InnerSpec()
.property( propertyName: "baseFee", ArbitraryUtilsKt.money(max = BigDecimal.valueOf( val: 10000L)))
.property( propertyName: "deliveryFeeClassType", DeliveryFeeClassType.SECTION_BY_QUANTITY)
.property( propertyName: "deliveryFeePayType", MallDeliveryFeePayType.PRE_PAY)
.property( propertyName: "secondBaseQuantity", Values.NOT_NULL)
.property( propertyName: "secondExtraFee", Values.NOT_NULL)
.property( propertyName: "thirdBaseQuantity", Values.NOT_NULL)

.property( propertyName:"thirdExtr‘aFee"i Values.NOT_NULL)

val calculateSource = fixture.giveMeBuilder<DeliveryFeeCalculateSource>() ArbitraryBuilder<DeliveryFeeCalculateSource>
.setInner(
chargeableDeliveryFeeCalculateSourceSpec.property( propertyName: "deliveryFeePolicy") { p ->
p.inner(sectionByQuantityDeliveryFeePolicySpec)
.property( propertyName: "secondBaseQuantity", secondBaseQuantity)
.property( propertyName: "secondExtraFee", secondExtraFee)
.property( propertyName: "thirdBaseQuantity", thirdBaseQuantity)
.property( propertyName: "thirdExtraFee", thirdExtraFee)

.property( propertyName: "quantity", Arbitraries.longs().between(0OL, secondBaseQuantity - 1))

) ArbitraryBuilder<DeliveryFeeCalculateSource!>!
.sample()

// when
val actual = DeliveryFeeCalculator.calculate(list0f(calculateSource))

val expectedDeliveryFee = calculateSource.deliveryFeePolicy.baseFee
then(actual.totalPrepayDeliveryFee) .isEqualTo(expectedDeliveryFee)
then(actual.totalDeliveryFee).isEqualTo(expectedDeliveryFee)

LAX 7|5 AEollM HUA| 70| A HASHH = Al
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@PRepeatedTestWithContext
fun validateOrderProcessShoppingCategoryExceedThrows() {
val orderSheetV2Fixture :OrderSheetFixture = this.fixture.orderSheetFixture(productApiType = API_VERSION_28)
.apply { this: OrderSheetFixture
merchantFixture.merchantApiResponseBuilder.set(
"body.individualCustomUniqueSignExposureYn",

)

} val baseAddressValidationResult -BaseA i = fixture.giveMeOne<BaseAddressValidationResult>()

.apply { this: OrderSheetFixture val giftCertificationUsageResult :GiftCertificationUsageResull! = fixture.giftCertificationUsageResultBuilder(
val purchaseAmountLinitCategoryld = giftCertificationUsageAmount = BigDecimal( vat 450_686L),
merchantFixture.merchantExternalMemberApiR Builder Arbitrary® tExterr Ap todaybiftCertificationUsageAmount = BigDecimal( vat 100_866L),

.set("body[#] .externalMemberTypeCode"”, ExternalMemberType.EC.name) Arbitrarys A IMermib ).sample()

.set("body[#*].useYn", true) val mallProductsV2 :List<MallProduct> = orderSheet.products.map { toMallProduct(it) }
registerOrderFixture.registerOrderBuilder.set("products[@].salePrice”, BigDecimal( vat 508_0666L))
shoppingSearchProductApiResponseBuilder thenThrownBy {

.set("nmpProductList.result[8].product_info[#].fullCatld", ~ -~ ' v A= " st | | this.sut.validateOrderProcess(

¥ ValidateOrderProcessSource.builder()

.apply { this: OrderSheetFixture .orderSheet(orderSheet)
applyPayMemberNo() .makeOrder (makeOrder)
this.applyOrderSheetSnapshot() .payMember (orderSheetV2Fixture.payMenber)

} .refundAccount (orderSheetV2Fixture. refundAccount)

.apply { this: OrderSheetFixture .merchant(orderSheetV2Fixture.merchant)
payMemberFixture.mock6etPayMember() .naverpayPoint(orderSheetV2Fixture.naverpayPoint)
merchantFixture.mockGetMerchant() .orderCalculateResult(orderSheetV2Fixture.orderCalculateResult)

} .baseAddressValidationResult(baseAdd ValidationResult)

val orderSheet :OvderSheet = orderSheetV2Fixture.orderSheet .giftCertificationUsageResult(giftCertificationUsageResult)
val makeOrder :MakeOrder = this.fixture.makeOrderFixture( .mallProductsV2(mallProductsV2)

MakeOrderFixtureProps( .build(),
isDeliveryNothingOrder = false, )
isOverseaDelivery = false, }.satisfies<ValidationFailedException> { it VaidationFalledException
generalPayNethodType = MallPayMethodType.CARD, then(it.message) .contains("Exceed today gift certification category purchase Limit")
orderPayAmount = orderSheetV2Fixture.orderCalculateResult.orderPayAmount, }
generalPayNethodTypePayAmount = orderSheetV2Fixture.orderCalculateResult.orderPayAmount, 4
verifyServerClientDataSalt = orderSheet.verifyServerClientDataSalt,

)'

)
.makeOrder

© NAVER Corp.
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the opening keynote of the 2014 Gooale Test Automation Conference
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assertThat(fellowshipOfTheRing).extracting("name", "age",
.contains(tuple("Boromir",

tuple("Sam", 38,

tuple("Legolas",

https://assertj.github.io/doc/

"race.name")
SR Man=e) e
"Hobbit"),
1000, "El1f"));

© NAVER Corp



data class Approval(

val reasons: List<A_ent> )
) sealed interface

sealed interface A-nt

2 zurr] Gl SOUECnEL class SealedInterfaceImplementation(val stringObject: StringObject) : SealedInterface

val worl_ontent: Work place,

) : ApprovalContent

sealed class Wor_kplace -

class StringObject(val string: String)

SealedInterface

data class fs
val wor Name: String?
place

M R B (RepeatedTest (TEST_COUNT)

fun sealedInterfaceApplySet() {
buiLder.register<A-nt> { : g _ : : : ; : ‘ : :
1t,giveMeguude,~<A-nt> val actual : SealedClassTest.Sealedinterface! = SUT.giveMeBuilder<SealedInterface>() ArbitraryBuilder<Si

.acceptIf( .thenApply { _, builder -> builder.set("stringObject.string", "expected") } ArbitraryBuilde
{ 1t is Work Content
{ builder -> builder.set("work tent.workPl .sample()

then((actual as SealedInterfaceImplementation).stringObject.string).isEqualTo("expected")

val result = fixture.giveMeOne<Approval>()
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the test should use narrow assertions that only check the relevant behavior

TEST_F(AccountTest, UpdatesBalanceAfterWithdrawal) {
ASSERT_OK_AND_ASSIGN(Account account,
database.CreateNewAccount(/*xinitial_balance=%/5000)) ;
ASSERT_OK(account.Withdraw(3000));
=Y. I balance = 2000, /* a handful of other fields x/ };

EXPECT_EQ(account, kExpected);

TEST_F(AccountTest, UpdatesBalanceAfterWithdrawal) {
ASSERT_OK_AND_ASSIGN(Account account,

database.CreateNewAccount(/*xinitial_balance=%/5000) ) ;

A DK 1 A NQ A

EXPECT_EQ(account.balance, 2000);

https://testing.googleblog.com/2024/04/prefer-narrow-assertions-in-unit-tests.html
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class DiscountInput(
val products: List<DiscountProductInput>,

) A
class DiscountProductInput(
val id: String,
val price: BigDecimal,

val discountPolicy: DiscountPolicyInput?

- . AL O ;|. fol SFO| 2 zHO P\I
ey S VE dv o 1 . I-EL (@) l__ - | (@) _I|-| I_I- 7

val discountKind: CouponDiscountTvpe,

val discountValue: Double,

}

enum class i = 5 o IT X O ) o = =
3. HE OIS ME Z220S J|Z0E AN

AMOUNT,
by

class DiscountOutput(
val discountsById: Map<String, Discount>,

)

val discountBaseAmount: BigDecimal,

Vd 0 . blgue

© NAVER Corp




class SimpleDiscountCalculator {
fun calculate(input: DiscountInput): DiscountOutput =
input.products.associateBy({ it.id }) {
val discountBaseAmount = it.price * it.quantity.toBigDecimal()

val discountAmount: BigDecimal =
if (it.discountPolicy != null) {
when (it.discountPolicy.discountKind) {
CouponDiscountType.RATE ->
discountBaseAmount.percent(it.discountPolicy.discountValue)

CouponDiscountType.AMOUNT ->
it.discountPolicy.di$countValue.toBigDecimal( )
} else {
BigDecimal.ZERO

}

Discount(discountBaseAmount, discountAmount)
}.let { DiscountOutput(it) }

c) NAVER Corp



class DiscountInput(
val products: List<DiscountProductInput>,

) {

class DiscountProductInp
val td: S5tring,
val price: BigDecima
val quantity: Long,
val discountPolicy:

Given("FZo| glg mf") {
val sut = SimpleDiscountCalculator()
val input =

put::discountPolicy)



Given("&d FEY uf") {

val sut = SimpleDiscountCalculator()

val expected = 100L.toBigDecimal()

val input =
FIXTURE.giveMeBuilder<DiscountInput>()

eExp(DiscountInput: :produ 1

class DiscountPolicyInput(
val discountKind:

val discountValue:

.setExp
DiscountInput::products[@] into DiscountProductInput::discountPolicy into
DiscountPolicyInput::discountKind,
CouponDiscountType.AMOUNT,
)
.setExp(
DiscountInput::products[@] into DiscountProductInput::discountPolicy into
DiscountPolicyInput::discountValue,
expected. toDouble( ),

.samp le

When("&tel ALS st") {
C

val actual = sut.calculate(input).discountsById.values.first()

han( "X 0H I 102 HIStS "

actual.discountAmount shouldBeEqualComparingTo expected
}

© NAVER Corp



class DiscountProductInput(
val id: String,
val price: BigDecimal,
val quantity: Long,
val discountPolicy: DiscountPq

class DiscountPolicyInput(
val discountKind: CouponDisco
val discountValue: Double,

Given("®Hg =Y m") {
val sut = SimpleDiscountCalculator()
val orderAmount = 1000L.toBigDecimal()
val input =
FIXTURE.giveMeBuilder<DiscountInput>()
.sizeExp(DiscountInput::products, 1)
.setExp(

DiscountInput::products[0] into DiscountProductInput:

1L,

.setExp(

DiscountInput::products[0] into DiscountProductInput::

orderAmount,
)
.setExp(

DiscountInput::products[0] into DiscountProductInput:

into DiscountPolicyInput::discountKind,
CouponDiscountType.RATE,
)
.setExp(

DiscountInput::products[0] into DiscountProductInput:

into DiscountPolicyInput::discountValue,

.sample

When( "&el 74t
val actua

AT = OHA o k=1 o o =N SL= "

:quantity,

:discountPolicy

:discountPolicy

val expected = BigDecimal.valueOf(100L)
actual.discountAmount shouldBeEqualComparingTo expected




companion object {
val FIXTURE: FixtureMonkey =
FixtureMonkey.builder()
.plugin(KotlinPlugt
.register<DiscountInput> { fixture ->

fixture.giveMeBuilder<DiscountInput>()
.sizeExp(DiscountInput: :products, 1)
}
.register<DiscountProductInput> { fixture ->
fixture.giveMeBuilder<DiscountProductInput>()
.setExp(DiscountProductInput::quantity, 1L)

c) NAVER Corp



XX eee
Gilven( "™ IFE=Y mf") {
Given("FZ0| g uj" val sut = SimpleDiscountCalculator()
_ val expected = 100L.toBigDecimal( )

val ‘?’Ut =5 val input =
val input = FIXTURE. giveMeBuilder<DiscountInput>()

FIXTURE
.setExp(

DiscountInput::products[0] into Disd

DiscountPolicyInput::discountKind,
CouponDiscountType.AMOUNT,

)

nsto| 7 .setExp(
When("&el 7| DiscountInput::products[0] into Disq

val act DiscountPolicyInput::discountValue,

expected. toDouble( ),

Then( "2
act
When( "&Ql At

val actua .calculate(input).discountsH

Then("dY FE FAS Hrateict") {

actual.discountAmount shouldBeEqualCompa

Given("®dg FEL ") {
val sut = SimpleDiscountCalculator()
val orderAmount = 1000L.toBigDecimal()
val input =
FIXTURE.giveMeBuilder<DiscountInput>()

.setExp
DiscountInput::products[0] into DiscountProductInput

orderAmount,

)

.setExp(
DiscountInput::products[0] into DiscountProductInput

into DiscountPolicyInput::discountKind,
CouponDiscountType.RATE,

::discountPolicy

)

.setExp(
DiscountInput::products[0] into DiscountProductInput

into DiscountPolicyInput::discountValue,
10.0,

::discountPolicy

.sample()

When("&¢l Aits e )
val actual = sut.

{
c

alculate(input).discountsById.values.first()

Then("F2 30N Hg HlES 7litsto] gigksict) {
val expected = BigDecimal.valueOf(100L)
actual.discountAmount shouldBeEqualComparingTo expected




val xxDiscountInput: ArbitraryBuilder<DiscountInput>
get() =

FIXTURE.giveMeBuilder<DiscountInput>()
.si1zeExp(DiscountInput: :products, 1)
.setExp(DiscountInput::products["*"] into DiscountProductInput::quantity, 1L)

© NAVER Corp



val xxDiscountInput: ArbitraryBuilder<DiscountInput>
get() =

FIXTURE.giveMeBuilder<DiscountInput>()
.si1zeExp(DiscountInput: :products, 1)
.setExp(DiscountInput::products["*"] into DiscountProductInput::quantity, 1L)

© NAVER Corp
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Plugin

al fixtureMonkey = FixtureMonkey.builder()
.plugin(SimpleValueJgwikPlugin())
.build()
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